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oxAFALY 160,0008! * 1% * 128 1,920
o Y HEIH| 1,113,6008 * 60% * 23 1,337
ool agt 100,0008! * 1% * 128 1,200
o I 2 = 30,0008 * 1% * 128 360
o X M Z A 120,0009! * 1% * 128 1,440
|23l 44,664
JI23l 44,664
201 Lt 33,816
01 A2 22l 29,856
ORAN2g JI2ZH| 4,200
osHI|E 250,0008 * 128 3,000
oXHE L 100,0008 » 128 1,200
OMREE FL(BAMX, 28FFS) 3,600
osFIg 200,0008 * 12 2,400
oXHELE 100,0008 = 128 1,200




SN STUED
HH: HH2IAH (saz )
el JI=23Hl
5 - 4
SN B SH(EA) - NRAY - BAS of & o4 e
OHFARII 2285 7¢ 6,600
osdJI 300,000& * 5040 = 22 3,000
osdRS 300,000& + 104 = 23 600
oFMAE 300,000& 104 = 2% 600
o=Xlzel 300,000 * 2CH * 23 1,200
ottgda3d 300,000& = 204 = 2% 1,200
O=&Hl 15,456
o538 8,000& = 23F » 7 « 12& 15,456
02 s5=9Hl 3,960 3,960
oRER= 300,000& * 12& 3,600
Ooorlgs=d &g 30,000& » 12& 360
202 o4 Hl 6,648 6,648
01 SO HI 1,680 1,680
Odld=2=22 0 bl 1,680
02 EA0dtl 4,968 4,968
OFALULESAHI U0
138,000& » 3 = 12& 4,968
203 2R =AY 4,200 4,200
04 FANE2EERFAH| 4,200 4,200
OFNM2gE2FaH 350,000& * 12& 4,200
HWegs(sdazmn) 56,000 56,000
HEHH XK= 50,000 50,000
WEHH X2 50,000 50,000
02 JI=8ES 50,000 50,000
01 JI=sdE=S 50,000 50,000
O=sgegdIIz2 &3 50,000
RSN 6,000 6,000
RSN 6,000 6,000
802 gtat=JI Et 6,000 6,000
Buegss 6,000 6,000
OUMMENIELE &= 6,000




